SHIF4B1BERE BEHEFREEFRERAORVUHE

SH4E281BRE B ETEEEXREIIRAODORUHTE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,323 6,645 12,968 5,430 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA
AFNHbig 3,120 3,260 6,380 2,235 I\ ithig 6,215 102 6,548 84 12,763 186 5,381 143
B &bl 5,231 5,489 10,720 4,008 Kfihigk 3,091 37 3,248 14 6,339 51 2,224 49
=B 1,478 1,538 3,016 1,111 B S 5,181 58 5,439 78 10,620 136 4,006 123
K ilfi Hhig 1,923 1,972 3,895 1,348 = B ihig 1,470 11 1,519 14 2,989 25 1,115 24
B Fithis 771 790 1,561 557 Kt Hhig 1,909 13 1,943 33 3,852 46 1,339 35
15 ihis 808 846 1,654 704 B £ ih i 757 0 772 4 1,529 4 547 4
B EH2HE 19,654 20,540 40,194 15,393 15 ihig 782 21 821 28 1,603 49 683 46
MEmLHE 19,405 242 20,290 255 39,695 497 15,295 424
i (R A k) A 43 A8 A 22 3 A 65 A5 A 19 A7

HEREXSBRAQFNAEAERZSD.

Bt =i =1 HE
N SHELA (2 4) 287 283 570 505 fH4F2H1BBE BLHTERERSERAORUHEF(HEADH)

g B ZH | A0 B | HER

I\ ihig 6,113 6,464 12,577 5,238
AKFxhig 3,054 3,234 6,288 2,175
B Sithig 5,123 5,361 10,484 3,883
= B b g 1,459 1,505 2,964 1,091
Klfi high 1,896 1,910 3,806 1,304
BA = Bhigk 757 768 1,525 543
1 5 ih g 761 793 1,554 637
MEmLHE 19,163 [ 20,035 39,198 | 14871
¥E (R A L) A 35 A 25 A60  A12




